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15 minutes
Open textbook, closed notes

Two kilograms of water are contained in a closed system, and are in the saturated liquid state at 100 kPA. The water is
heated in a constant pressure process until it turns into saturated vapor. The source of heat is a constant temperature reservoir
at 120

�

C. The entropy generation due to friction and other irreversibilities, 1S2 � gen, is zero for the system and the reservoir.

1. What is the entropy change of the system in kJ/K?

2. What is heat transfer to the system in kJ?

3. What is the entropy change of the reservoir in kJ/K?

4. What is the net entropy change of the universe in kJ/K?

1


